AR—A2000—MS (BEZAfD) $=1:30
(B#5 7 ERENEERESL - ARTRICEICAEN GL+0m [2k3)

y = :::::::::\f\f\f\f‘::::::::::::::: ) A ——
7] 7]
2000 2000

#4EBN M8 x 25
I W1 -

M 1oy

350

JA4X Ay
(N Toavig)

950

950

|
|

GL+O0m

i

50

300

ifi_| ¢60.5x2.3 $60.5%2.3

500

20
1970
VT F T FF P Heh [ F F F+F - e T )

300 300
N ILRRE
() RIESBEEZETRT,
P iD
K C -
D =" 2
— =3

%g:: % R RHRE
[ ,I

D ERERAT X $=1:5

A

- LEN
2
< B
2 g, 3
g |
9
|
= e
wxen .
BN M8 x 25
W)
|

RETEH
HREE - - - BHS 7TERENEERER - AETSICEICATAIZKS.
HEBEEHE - - - RYFRMMAH 98 kN/mM (10t./m)

z
1. AA&EIZDUNT
B ]___ B - FILI - TTRSILERDHEDL
LI S B BT IR AR
'%‘*é””l ]--- TN - = O L ETHEEB IS kB
CRIL k. Fu k- e - EEEND o =0 ISR LE

170400026

2024. 03




